

Name: Sadane Okwase Ndore
 Dept: Mechatronics Eng
 Mat: No: 16/ENGA05/024

$$y = e^{2x+2}$$

$$y = (2x+2)e^{2x+2}$$

$$y' = u \frac{dy}{dx} + v \frac{dv}{dx}$$

$$\frac{dy}{dx} = 2 \quad \frac{dy}{dx} = (2x+2)e^{2x+2}$$

$$y'' = u \frac{dy}{dx} + v \frac{dv}{dx}$$

$$= (2x+2)(2x+2)e^{2x+2} + e^{2x+2}$$

$$y'' = y'(2x+2) + 2y$$

From Leibniz theorem

$$y'' - y'(2x+2) = 2y = 0$$

$$W_1 = y^I, W_2 = y^{II}, W_3 = -2y$$

$$W_1 = y^I, W_2 = y^{II}, W_3 = -2y$$

$$v^I = 1, v^{II} = 0, v^III = 0$$

$$v^I = y^{n+2}, v^{II} = y^{n+1}, v^{III} = y^n$$

$$W_1 = C_0 y^{n+2}, W_2 = C_1 y^{n+1}, W_3 = C_2 y^n$$

$$W_1 = y'(2x+2), W_2 = y^I, W_3 = 2y$$

$$v^I = 2x+1, v^{II} = 2, v^{III} = 2$$

$$W_1 = C_0 y^{n+2}, W_2 = C_1 y^{n+1}, W_3 = C_2 y^n$$

$$= y^{n+1}(2x+2) + ny^n$$

$$W_3 = 2y$$

$$v^I = y, v^{II} = y, v^{III} = 0$$

$$v^I = y^n, v^{II} = y^{n-1}, v^{III} = y^{n-2}$$

$$W_3 = C_0 y^{n-1}, W_4 = C_1 y^{n-2}, W_5 = C_2 y^{n-3}$$

$$W_3 = 2y^n$$

$$W_1 + W_2 + W_3$$

$$y^{n+2} - y^{n+1}(2x+2) - 2y^n = 0$$